

(۲)

$$f(u) = \begin{cases} \cot \frac{\pi u}{2} & : u \leq 1 \\ \sqrt{u^2 + 1} & : u > 1 \end{cases}$$

$f \circ f \left(\frac{1}{2} \right) = 3$

$f \left(f \left(\frac{1}{2} \right) \right) = f \left(\frac{1}{2} \right) \Rightarrow f \left(\frac{1}{2} \right) = 3$

(۲) ①

(الف) $f \left(\frac{1}{u} \right) = \sqrt{\frac{u-1}{2u}}$ $g(u) = 2 \cos^2 u$ $f \circ g \left(\frac{\pi}{4} \right)$

$f \left(g \left(\frac{\pi}{4} \right) \right) \rightarrow g \left(2 \cos^2 \frac{\pi}{4} \right) = f \left(\frac{1}{2} \right) = 3$

$f \left(\frac{1}{2} \right) \rightarrow \sqrt{\frac{2-1}{2 \cdot 2}} = \sqrt{\frac{1}{4}} = \frac{1}{2}$

(ب) ② $f(u) = [u]$ $g(u) = \frac{u}{1-u}$

$f \circ g \left(\frac{1}{2} \right) \rightarrow f \left(\frac{1/2}{1-1/2} \right) = f(1) = 1$

$\frac{1/2}{1-1/2} = 1 \rightarrow [1] = 1$

(۲)

$f(u) = \sin u$ $g(u) = u \sqrt{1-u^2}$ $f \circ g \left(\frac{\pi}{2} \right) = 0$

$g \left(f \left(\frac{\pi}{2} \right) \right) \rightarrow g(1) = 1 \cdot \sqrt{1-1} = 0$

$g \left(\frac{1}{2} \right) = \frac{1}{2} \cdot \sqrt{1-\frac{1}{4}} = \frac{\sqrt{3}}{4}$

(۳)

(۲)

$f(u) = \{ (\epsilon, \omega) (\gamma, \omega) (\lambda, \mu) (10, \mu) \}$ $g(u) = \{ (\epsilon, \gamma) (\gamma, \epsilon) (\gamma, \lambda) (\lambda, 10) \}$

الف) $f \circ g \Rightarrow f(g(u)) \rightarrow \epsilon \rightarrow \gamma \rightarrow \omega \quad \gamma \rightarrow \epsilon \rightarrow \omega \quad \gamma \rightarrow \lambda \rightarrow \mu \quad \lambda \rightarrow 10 \rightarrow \mu$

$\{ (\epsilon, \omega) (\gamma, \omega) (\epsilon, \mu) (\lambda, \mu) \}$

ب) $g \circ f = g(f(u)) \rightarrow \epsilon \rightarrow \omega \rightarrow x \quad \gamma \rightarrow \omega \rightarrow x \quad \lambda \rightarrow \mu \rightarrow x \quad 10 \rightarrow \mu \rightarrow x$

ج) $f \circ f \Rightarrow \epsilon \rightarrow \omega \rightarrow x \quad \gamma \rightarrow \omega \rightarrow x \quad \lambda \rightarrow \mu \rightarrow x \quad 10 \rightarrow \mu \rightarrow x$

د) $g \circ g \Rightarrow \epsilon \rightarrow \gamma \rightarrow \lambda \quad \gamma \rightarrow \epsilon \rightarrow \lambda \quad \gamma \rightarrow \lambda \rightarrow 10 \quad \lambda \rightarrow 10 \rightarrow x$

$\{ (\epsilon, \lambda) (\gamma, 10) (\gamma, \gamma) \}$

(۲)

①

$f = \{ (1,1) (1,2) (\epsilon, \omega) (1, \gamma) \}$ $g = \{ (1,2) (3,1) (\epsilon, 3) (3,1) \}$

$(1,2) \in f \circ g \quad (\epsilon, 1) \in g \circ f$

$f \circ g(u) \rightarrow 1 \rightarrow 2 \rightarrow 1 \rightarrow \gamma \rightarrow \omega = \epsilon$

$g \circ f \rightarrow 1 \rightarrow 2 \rightarrow 1 \rightarrow \gamma \rightarrow \omega = \epsilon$

$(1, \omega)$

(۲)

$$f(f(u)) = \epsilon u + r \rightarrow f(au + s) = a(au + s) + s \Rightarrow a^2 u + as + b = \epsilon u + r$$

(6)

$$g(ru + r) = ru - r$$

$$a(ru + r) + s = ru - r \rightarrow rau + ra + s = ru - r \rightarrow a = 1/0 \rightarrow a = 1/0$$

(7)

$$g(f(-1)) = -1$$

(8)

$$f(u) = \sqrt{u+|u|} \quad g(u) = \frac{1}{ur - \epsilon u}$$

(9)

$$\mathcal{D}_{g \circ f} = \left\{ u \in \mathcal{D}_f, f(u) \in \mathcal{D}_g \right\}$$

(10)

$$\sqrt{u+|u|} = 0 \rightarrow u \leq 0$$

$$\sqrt{u+|u|} = \epsilon \rightarrow u = 1$$

(11)

$$f(u) = \sqrt{1-u^2} \quad g(u) = \sqrt{u}$$

(12)

$$\mathcal{D}_f = [-1, 1] \quad \mathcal{D}_g = [0, +\infty) \Rightarrow \mathcal{D}_{f+g} = \mathcal{D}_f \cap \mathcal{D}_g = [0, 1]$$

(13)

$$\mathcal{D}_{(f+g) \circ f} = \left\{ u \in \mathcal{D}_f, f(u) \in \mathcal{D}_{f+g} \right\} \Rightarrow \left\{ u \in [-1, 1], -\epsilon \sqrt{1-u^2} \leq 1 \right\}$$

(14)

$$\frac{-\epsilon \sqrt{1-u^2}}{2\epsilon} \leq 1 \rightarrow 1 \geq -u^2 + 1 \rightarrow -u^2 \leq 0 \rightarrow u = 0$$

(15)

$$\mathcal{D}_{f+g} \circ f = [-1, 1]$$

$$f\left(\frac{ru+1}{u-r}\right) = \epsilon u + \delta$$

(16)

$$\frac{ru+1}{u-r} = \epsilon \rightarrow u = -\frac{-r\epsilon-1}{r\epsilon-r} \rightarrow \frac{r\epsilon+1}{\epsilon-r} = u$$

(17)

$$f(\epsilon) = \epsilon \left(\frac{r\epsilon+1}{\epsilon-r} \right) + \delta \rightarrow f(u) = \frac{\epsilon u + \delta}{\epsilon - r} + \delta$$

(18)

$$f(u + \frac{1}{u}) = u^r + \frac{1}{u^r}$$

(19)

$$(u + \frac{1}{u})^r = \epsilon^r = u^r + \frac{1}{u^r} + r u^{r-1} + \frac{r}{u}$$

(20)

$$\left(\frac{u + \frac{1}{u}}{\epsilon} \right)^r = \epsilon^r \Rightarrow f(\epsilon) = \epsilon^r - r \epsilon$$

(21)

$$g \circ f(u) \rightarrow g(f(u)) \rightarrow g(u\sqrt{u}) = 0$$

(22)

$$u\sqrt{u} = r\sqrt{r} \rightarrow u = r$$

(23)

$$u\sqrt{u} = 1 \rightarrow u = 1 \Rightarrow \boxed{u = 1}$$

(24)